Geometry Chapter 1 Review

. lUse the diagram io name the figuresJ

1) Three collinear pomts (;—., , M P M
2) Another name for?q & ggiiv& b or g%*‘

3} The intersection of hne h and line j E ?WM N

4) Four NON-coplanar points D , & 1,

il I Draw the following: E

5) 'ﬁ? 6) right angle £ABC (The reader must
know, without a reasonable doubt that

7) MN intersecting XZ 8) CT with midpoint M (The reader must
know, without a reasonable doubt, that
&%\ X @ point M is the midpoint!)
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9) Alinear pair 10) Vertical angles {identify which angles are
e vertical!)
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11} ‘Adjacent complementary angles 12) Non-adjacent s q*“‘“‘enwngles




11}

MEastre the angles:
prrile ‘tLa MEALATE on ﬂnt-
yaterior of the ‘-\njl-l

13)

K

14)
M » > < .
N R
Iv. Name AND classify the angles above (classify means...acute, obtuse, or right)
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V. Problem solving (draw a picture if one is not drawn for you): SHOW YOUR WORKI!!

17) If point A is between point X and point E, ﬁ&f 27ft and AX= 19ft, then AE =
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19) £ Aand .{_B are a linear pair. FTEm £ A =54", then mzB a&; _ .
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-20) £3 and &5 are vertical angles. If m £5 = 32°, then m£3 ={ ,5’29 /

21) 2§and 21 are S_QEELH}’ angles Ifm £5=42", then ms§ = E 33 Z
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22) £K and £2 are c_mg&me@y angles. Ifm £2 =42°, then mzK = g "‘{ ;
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26} If BD bisects ZABE.m£LABD = 2x and m£DBC = x + 15, then x = }5 mLABD = =20 30

and m2DBC = _i
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*After finding x and v,
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*After finding a and b, find all
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30} Find the dist bet A(-4, 5) and B(-1,-3
} Fi e distange between (Lwlmi-.._f.! ) ( wl a‘%ﬁ

i) Using PYTHAGOREAN THEOREM > ii) Using DISTANCE FORMULA
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N 31) Find the midpoint of segment AB mentioned in proklem 30;
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t/ ''''''' i) Using the graph method i ii} Using MIDPOINT FORMULA
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